—

1. Match W Tﬁm -

[a] Testicles and Ovarles — 1. Controlling the amount of sugar In the blood

T X9 sy ¥ wraRr @) AE W FrEEy
[b] Pancress Irrirery — 2. Secondary sexual characteristics fefra® e <eror
{2}::::21:::“ 9 TR — 3. plant Hormone TTEY E-‘if‘ﬁ‘f
Rafem 4. Master gland WTee¥ U
a b c d
B I T SR
® 3 1 4 2
© 3 2 a4 1
® a4 1 2 3
2.  lfanobject vibrates 30 times in 6 seconds, what will be its frequency -
TS IR 6 WDUS ¥ 30 T et & wad angha @ g h —
,(A‘)/Svibratiqnslsec. 5 S / ADIS
(B) 6 vibrations/sec. 6 o1/ APvS
(C) 2 vibrations/sec. 2 G /ADTS
(D) 3 vibrations/sec. 3 W /9T
(A) 1and 3 are Correct 1 9 3 W&l 2 (B) 2 and 3 are Correct 2 T3 a8 2
(€)1,3and 4 are Correct1, 3 9 4 Wl & (D)3 and 4 are Correct 3 9 -4 i I
3. The correct relationship between disease-causing-micro-organisms and diseases
AT I FEA qId Y& ST 7 AN @ g e wew wnfa | -
a] Malaria Feifar 1.  Bacteria d&IRAT
b] HIV U384, 2. Fupgus B
¢] Whooping cough §&3 &4l 3.  Protozoa MIGIGII3l
d) Shingles &T< 4. Virus digx™

a b c d

g 3 1. 2 -4
(B) 3 1 ‘4 2
(c) 3 ) 1 2
(D) 4 1 2 3
4, Which of the following material is the best conductor of sound
ot W1 qaref ey BT WA IHT WAED & —
4 Air g | (B)Water U+
(c) Steel W (D) Rubber &R

5. Which of the following is NOT a type of simple machine

R wefs a2 -
M Lever GIEN (B) Pulley LGl
(C) Wheeland axle  Tf&dT R qﬁ APY Transformer qRad=

———
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6. Electroplating is used for which of the following purposes -
R dwa o swahT fre ¥ @ frw o @ g grar @ -
(1) In shutting down the power supply foregar amqff /3 Eﬁ‘ ¥

(2) In making solar cells R 9 T F

{3rFo protect metal from rust oy I W7 ¥ =@ ﬁ !

(4) in obtaining pure metal from metal ore T IAED | g =g < I H
(A) 1and 3 are Correct 1 q3 L B2 andéaﬁ‘Ccrrect 293 9d 2
(C)1,3and 4 are Correct1, 3 9 4 UE} @ (D)3 and 4 are Correct 3 9 4 ‘\'Ttﬂ_g

7. Which pair is wrong in the method of separating different mixtures -
R frsor B s w9 R F ot @ ot T @ —

(A) Separation of sand and Amonium chloride - - sublimation
ARaTER aur Ya @ ST B — Sy
(B) Mixing alum in dirty water - evaporation
1R arft  resd framr —  grfiEer
(C) Powder of sand and clay - magnetic separation
X4 st @R @1 9of = @ QYT
Mﬁtmcting butter from milk - centrifugation.
<@ W waEd e - JUDAI
8. What is the main source of insoluble fiber in the diet 1
IER ¥ AgeTefid BIgaR &1 J&0 g a1 @ — .
(A) Beans Cikil (B) Nuts '(1:@ g
(EY Whole grains g AT (D) Vegetable <AsolY

9. Select the wrong one from the following - FI'<1 ¥ Tdd & 3T &Y =
(A) Mother plays a role in determining the sex of the child
< @ for Prafeor ¥ wrar @ e 2
(B) Helght increases during adolescence
fraivmaeen ¥ dard ¥ gfy e @
(C) Male hormone is testosterone
R gEla SN @
|pyFertilization is the fusion of sperm and egg et
IV Td ATV o Wera fage 2

10. If a force of 50 newtons is applied on an object and the object travels a distance of 10 metefg inthe
direction of the force, then the work will be - : ‘

' S|
uﬁﬁr@ﬁaﬁq?mﬂ{ﬁﬁmﬁﬁsﬁvmﬁaﬁﬁm#wma@a\im‘
2 ot favar wam @14 BFM - . ' )

Msjoules 5 Vo (B) 50 joules   '50 “_’E‘-"- o
(C) 5000 joules 5000 S (D) 500 joules 500 O -
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14,

17.

18.

1u.

12.

|13,

|15,

The balanced chemical equation of reaction occurring when magnesium metal Is burnt In the P"“e"“- of
carbon dioxide will be
ﬂmmﬁﬁmammwaﬁwﬁqﬁfﬁmﬂﬂﬁmm“
wgfaa wmafa whewr ey —
(A) 2Mg +CO, =2mgo +¢ () Mg +€O; =Mg0 +C
Ae'2Mg +2€0, =2mgo +C (D) 4Mg +2€0; =4Mg0 +CO:

Scurvy is disease - &Hdl. YT & —
(A) Genetic - = IaiRTS

(B) Infectious L CALE
T deficiency disease w4 @ g arelt AR
" (D)BothAandB gl A 3B '
Match gae Y — i
_ .[a] Hematite T[T — 1. Lead W¥HET
J,ereIena e — 2. Silver dlal
 [c] Bauxide STaTZS — 3. Iron T

(d] Argentite 3S{<Ige — 4. Aluminum JegHifaa

a b c d

-(A) 3 1 2 '
B 3 1 4 2
c 3 2. 4 1
(D) 4 1 2 3

L ”Thé vaccine given for tuberculosis is - & T @ oy fagr oM aren da1 8 —

(A)DPT S 1 & _8face & < <t
L ad “ (p) oT1 31 &1

Which organlﬁm show external fertilization frfafaay @ @9 9ea = qular 8-
(A) Frog Hed _{BY Human Being HI™ (C) Cow A (D) Hen Tﬁ \

The chemical formula of magnetite is

ﬁﬁmmwmﬁﬁvﬁ% -

(A) Fe0;  4B8) Fes0, (C) FeO, (D) FeS,

When the object is placed at 2F the image formed by convex lens will be at.

ﬂﬁﬁﬂftaﬁaﬁaﬁmﬁw$ 2F W Y@ T § df Iwa) yiie Per et -

AR 2F (B) F
(C) Between F and 2F F Sﬂ? * D fag i (D) Between F and optical centre F AR

o< o d™ -~

The power of lens ls 5D, Its focal length is- a9 @I wfkasp 2 @) 39 P Bidd w48 &l ?
~ (A) 10em. _ABY"20cm (9 —otm (D) 30cm
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24,

25.

26.

19,

20,

21,

22,

23,

Which fibre is used In manufacture of parachutes  3%rere fFafor & sy gty 2 -
_{ArNylon TIIgdlisT  (B) Rayor A (C) Terylene ¥ich= (D) Acrylic Rfihfera

Which of the following pairs Is not correct - FFIfafaa & & &1 W w1t v =df & -

,(A‘)lHousehold fuel- Fossll fuels R e —vfraren 2o+

(B) Solar cooker-solar energy LG FH-UR Hull

(€) renewable source of energy-Petroleum  FSil &1 Tty Gra-teifead
(D) Petroleum-blodiesel e —arEora

A Circle is 1 km in cirumference, Find out it's radius. -
et g &1 v wawy 1fef @1 21 99 g B B @ A
(A) 100.33m (Br125.25m (C) 159.09m (D) 200m

To stitch a shirt, 2m 15c¢m cloth is needed. Out of 40m cloth, how many shirts can be stitched and how
much cloth will remain.

wmaﬁﬁmﬁa%mzwhw?hﬂméaﬁmméuwﬁmmﬁ'
e Hiel Rich o1 wad & qun feaT $usT AT T8 7

(A) 15 shirts and 60cm remaining cloth 15 HHT qoqT 9y sou
(B) 16 shirts and 60cm remaining cloth 16 HHINT qAT 9y 609}
{CY17 shirts and 60cm remaining cloth 17 FHW TR 9N gowHT
(D) 18 shirts and 60cm remaining cloth 18 FHS T 9y eoRH

9216 students were sitting in a lecture room in such a manner that there were as many students in the
row as there were rows in the lecture room. How many students were there in each row of the lecture
room-

9216mwmﬁsﬂmaeéﬁﬁiﬁﬂ=ﬁwéwﬁawﬁmwﬁ
2| y% Har ¥ foas v 43 -

(A) 96 (8) 93 ez (D) 94

A rectangular field is 90m by 70m. A man walks around it at the rate of 4km per hour. what time will he
take in making 5 rounds -

U6 AAAGR ASH B g 90 A 7 A 70 M. 2| o ARk 9B TR AN 4
foofY. wfar wveT Y 91d ¥ g9} T & | 99 5 TN A A fhar 9Wa Wb ?

(A) 5 hours 5 gue W 5 hours 4 Yo
(C) 24 minutes 24 fiFre (D) 90 minutes 90 firFe
Write in decimal 50 + o ;& ama% l?f F(‘-r@ |
_pY750.106 (B) 50.16 (C) 5.016 (D) 51.60

After travelling 33km, Rahim found that 3 of his journey was still left. Find the length of his whole jouney

W 3 33 fad. wmﬁﬁmwm%%mﬁwm 2 qmaﬁﬂ’ts’m
HEEIR T I
(A) 100km BT 55km (C) 66km (o) 133km
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29.

30.

31.

32.

33,

P can do of a work In 10 days, Q can do 40% of the work In 15 days and R can do 3 of the work in 13
days. Who will complete the work first,

p el 10 @ (F 10 R ¥ qxr awar & @ ot I B 40% B 15 R ¥ [ I
¢ aR R 0 B B *mamammammmmwmiﬁw
T AHAT & — -

WP g Jara (©)R (D) P and R both

28, Thevalue of ‘i,? 2 3’Is A9 e

BLE (6)% ©-3 (-2
Which of the following is incorrect. Taid WiHvor ygart
(A) (a+b)? = a’+2ab+b? _{BY {a-b)? = a’-2ab-b? | 7 4 e
(€) (a-b)* = a*-2ab+b’ (D) a*b=(a+b) (a-b) IR

There are 100 students in a hostel, food provision for them is for 20 days hdw long will these provisions
last if 25 more students join the group -

‘ wﬁmﬂﬁmoma}a%ﬁmzoﬁq}a%mﬁqmmmﬁéluﬁzsmaﬁﬂﬁm

A & al Wiod fea T Rar o wam —
(A) 12 Jp()qs () 16 (D) 17

In a morning walk, three persons step off together. Their steps measure 80cm, 85 cm and 90cm
respectively. What is the minimum distance each should walk so that all can cover the same distance in

complete steps -

?ﬂﬂmﬁawwwﬁmwﬁmﬁélmmaﬁmaoﬁaswa%

AR 2| ~Ew o e B Wl @ wal 1 wen el § & ?
/(A')’12240cm (B) 900cm (€) 7200cm (D) 6800cm

The sum of the digits of a two digit number Is 9, the number obtained by reverse order of the digits of the
given number is 27, more than the original number. What is the original number.
ﬂmmsﬁﬁrmma}mmuhms% 4§ gE WS & Fbl $amaﬁm
eﬁwmggmrgamT}WWé ﬁqymﬁ!ﬁ—

(A) 40 (8) 24 . k36 32

The probability of getting an even number when a dice Is throw will be.

Wmﬁaﬂﬁwmmmﬁﬁﬁm&waﬁn—

A 3 AB)’; @ 1
T is the following types of number-
Tt fr 1 yoR @ weAr 8-
(A) Rational number Ay gl (B) Irrational Number 3R HwAT
(C) Integer Number ~ qUTi® H&AT APTNone ofthese g @ BIg T8I
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42.

35,

36.

37.

38,

39.

40.

41'

Find the value of = #I ST X 512'
(A)

(XY

What is the smallest prime number greater than 20

20 ¥ 7€) WeW VI amoy W S A @ —

Brt, © (o) 9

Ay 21 (8) 23 _ (€ 25 N (D) 27
The mode of data 5,3,2,2,4,5,3,3,4,3,5,3 is
=1 &1 9ga® T 8N 5,3,2,24.5.3.34.3.5.3
(A) 2 By 3 (c) 4 (D) 5
The distributive property is applicable to
oo frr s R ar a8 —
1Ay Addition and multiplication ‘-’ﬁ:"’ 9T
(B) Subtraction and division ‘ uerd 7 fanre
(€) Multiplication and exponentiation O IR gi®
(D) Division and square roots fawrer @R whE

There is 15% annual interest rate on 100/- prinicipal amount then, what will be the compounded amount

after one month.

Ife . 100W,Wﬂ1ﬁ$mﬂ1§<mﬁﬁﬁrmﬁ}ﬂﬁﬁmﬁﬁm

BT —

IA15 (B) 101.25 (C) 105.75

What is the value in the unit place of 2°°|

278 THIE U W B9 W wem s -
(A) 2 . 187 4 (C) 6

Who established the four dhams of Hindus
fegal @ AW aml B WU e Bt off ?

& Ramakrishma Paramhansa HG®T RIS
(B) Ramanujam AT
~ (C) Shankaracharya HERE|L

V(D) 115

(D) 8

(D) Swami Dayanands Saraswati. wWrfl gar< aeeEdl

Match the following- Gafera iftry
1 Sri Ram $RD

Lumbini ?:[ﬁil'fﬁ

Mathura T2IRT -

a

Mahatma Budh HETTT g« b Ayodhya AT
c
d

2
3 Vivekanand  fdd@r= ;
4

Sri Krishna AHoT |

a b c d
w2 1 4 3
(B) 4 3 2 1
(C) 1 2 3 4
(D) 3 2 4 1

~ Calcutta Poldl -

WSO XIS
E T
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1/3,/ During the reign of which Governor General was the rallway line established in India
AT § X B R oy TR siRa @ wWa g8 7
(A) Lord Dalhousie difE Taa}wl) (8) Lord Curzon e dol
(C) Lord Cornwallis A€ &T-aifery (Bord Wellesley @S Fororell

44, On which date the sun's rays fall perpendicular to the tropic of Cancer
i o 5l o R ot o9 Yar @ o ved @ -
(A) 23 September 23 Ry jBY21stiune 21 o ~
X722 December 22 feamax (D) 23 December 23 fegwax

45. Between whom was the battle of Haldighati fought
Teardl I fTa i o) v of ?
(A) Akbar and Rana Sangram Singh ~ 3T®&R 31X IO |9um e
{BY Akbar and Maharana Pratap Singh e 31X HeRTvIT Yard R
(C) Akbar and Udai Singh Fpax Ak 9ea i
(D) Akbar and Medini Rai FoR AR AfH

46.  The Grand Trunk Road build by Shershah Suri connects which places
IRETE W AU g s o i wEf /@ el b exaEr —

(A) Shrihagar to Kanyakumari TR | AT Hj‘ﬂf(
(B) Delhi to Mumbai faeehl @ T8
(C) Nepal to Srilanka Aurd 9 Aider

{,(a'r Kabul to Chittagong CIC G ¥ faeia

47. The commander-in-chief of all the three parts of the army is-
AT @ A o Br W AR AT 2 :
j President Irszufer (b) Prime Minister AT AT
(c) Speaker of the Lok Sabha ATHAT AL (d) Chief of the Air Force. q1g /T BLiAC

48.  Which of the following is not correct

Preafafaa 4 @ &19 w1 9 T ? -

(A) Dada Bhai Naoroji L 71§ ARl - Grand old man ¥ 3ftes A
(B) Mahatma Gandhi HeTeT el - Rastrapita rsgfiem
@f Rabindranath Tagore ~ Xel=rd @M - Koblguru @Il T®

(D) Sardar Patel - WAER Yo +  Guudev  TwRd

49. Who is the Chairman of the Upper House of the Parliament
WUT & 9o WeA BT ASAH BT Sl 8 —
AT President sgafa (B) Vice President ~ SURTSZUfar
(C) Lok Sabha Speaker ATHEHT JEA& (D) None of these T ¥ Pig Tl |

50.  The United Nations was established in-
WY W wo @ v g8 ofi-
(a) 15 November 1943 15 -Tq%Y 1943
(b) 14 October 1944 14 JAGAN 1944
J4 24 October 1945 24 SECE 1945

(d) 24 April 1946 24 It 1946

g AT g
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57.

51

52,

53.

54,

55.

56.

In which place of C.G. Potato Is grown in khareef season -

Bﬂ.%ﬁmwﬁmaﬁa%wa?Wﬁmmé—

(A) Manpat  A¥uTe (B) Bastar iﬁ? )

4ey chilf faemt (D) Janjgir Champa  WiiwrfIR—aTdl
Swadeshi movement was started tg/ﬁ "
¥R anstaT @t o =

(a) Dada Bhai Naoroji STl g LRI (b) Subhash Chandra Bose W T4

~

e} Bal Gangadhar Tilak aTet e RIel®  (d) Lal Lajpat Ral. ATel drerqe X

Which waterfall in Chhattisgarh is famous for its horseshoe-shaped cascade
B o) wr S 90 e @ A @ AR B I S fag wfig @ -
" (A)Teerathgarh iR=rTe (B) Chitrakote i@
(C) Amritdhara SPF[CEIRT BT Tamda Ghumar THST ¥R ",

Make correct pairs &1 e Tg¢ —
a] Caspian Sea YU AR 1 Giant lake faeTd®™ 3fier
b] Tides S9IX HTCT 2 periodic rise and fall in water Wil 3 amaftis 9319 ¢4 JAKR

¢l  Sunami AR 3 Intense seismic waves Tid U i

d] Ocean Currents HETATT €IRT¢ 4 water currents flowing in definite pathsﬁﬁﬁ'\"[ anf A
yaifed &9 arefl Sd—arRIY

a b c d
3 4 1 2
() 4 3 2 1
© 1 2 3 4
(b 3 2 4 1 .

Which of the following four rivers originate from the Himalayas

femea @ Froa el Frafafeag § @ a0 9r afear 2 ?
(A) Ganga, Yamuna, Kosl, Brahmaputra T, Y-, aid, FEURE]
(B) Ganga, Yamunma, Kosi, Godavari A, AT, ST, TR
(C) Ganga, Kosi, Godavari, Narmada T, B, MaErE), e

_kPJGanga, Yamuna, Narmada, Godavari T, W, i, CLEARE

In which continent Is the world's buslest airport, New york

fvg &1 @ 9 ISl e 60 TEEY ¥ @ -
(A) South America 8T 3T (8) North America Jax i’-lﬁ'ﬁiﬁr
{eyAustralia 3t foram (D) Europe W™y

Tarapur is related to which instrument of power and is established in which state of india

arrge’ few wfed @ W @ w9ha @ ok wra @ few wvw § wenfi @2
(A) Hydropower, Uttar Pradesh Serfae, Iy
(8) Nuclear Power, Maharashtra URHIY] 91fdw, HENTS:
€] Coal, Bihar aiga, fRER
(D) Nuclear power, Gujarat TRATY wifew, oI
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59,

.| 62.

| 66.

58.

61.

63.

65.

Which Is the natlonal butterfly of Indian, that Is malnly found In C.G. state -

A B I el w1 W qag @ ger: oo F o A @ -
(A) Deadleaf SEdl® (B) Indlan Jezebel gfeu dedw
Al Krishna peacock W fidid (D) Orange oakleaf ~ JINW Fhaeie

Which part of the United nations works in the educational fleld

WM &7 ¥ oM o T HYT O WG B G G AT E -
(AVUNICEF PRI 46 unop A< A
(C)UNESCO 7Y . (0)None ofthese 1% W ®Ig Tel

Who among the following has the power to grant pardon to a criminal sentenced to death

5l sqeve Uiy s @Y smrEE @) Ol frefaied ¥ R/ frwet a2
{ATOnly President ~ ael Nrsgufer

(B) Governor TS gqqTe
(C) Bothe the President and the Governor  XTSZUTRT TIT TSI Qi1
(D) Chief Justice of the Supreme Court walea <ol & &1 R

In a box, 42875 marbles are kept in the form of? cube. How many layers of marbles are there in the box

UG q@ ¥ B9 B 42875 MRET 09 @ w7 A ¥ T8 @ 990 F it A fead
aE ‘
(A) 45 (8) 42 (040 (Dyss

Which of the following year was leap year?
frefoalaa & @ o9 w1 af ofig af - ~
(a) 2018 (b) 2022 (c) 2014 Y 2016

Shanker is father of B but B Is not son of Shanker then what Is the relationship of B to Shanker
TieY BT far @ wWqB Wax &1 U7 78 2 O BHT Wi @ o9 Rear @ ?

(A) Grand Daug!lter gidt (B) Mother a1
(C) Daughter d& ABY Grand son g

‘Sarlta Is at 27th posltioﬁ from the top in a class of 43 students. What is her rank from other side -
oAl e A IRAT T TTFTR Y 279 2 @t M A 7w sH e -
(A 16th (B) 17th (C) 15th (D) 21th

| -
Find the missing IetterA.%c...F...f:D...?‘ AT v F41 'R —

>

(A) R ®) S © T ‘ (P Uses

Sanju bharti walks 9m towards south from a certain place, then turns right and walks 7m, Finally she '”
turns right and walks 16m. In which direction Is she now from the starting point?

oo, Al U@ e e @ ot 3T B AR wadt 2, AR 9w ad gewk 7. Tl
2. &9 ¥ 9% 7N g 164 gl ¥ | RS fig W 98 a9 frw Rwr § -

(A) North - East Jean—qd (B)North - West ELLattEL]

(C)South - West Ror—uf¥ed 48T Unknown o1 8 P aBd
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67.

69.

70,

71.

72.

73.

74.

75.

76

77.

Pointing to kapil, shilpa sald, his mother's brother Is the father of my son Ashish "How Is kapll related to

shilpa.
%ﬁﬁvmmﬁgﬁwﬂﬁwﬁﬁmﬂﬁﬁiémﬁmfm

e o wr @ ? \ _ s
LAY Sister-in-law el (B) Sister &1 (C) Nlece Trefrft (D) Aunt

Arrange the given words in alphabetical order and tick the one that comes in the 2nd posiﬂon -

FehRfedd S ¥ U WM U B 01 I3 J1¢ —

(A) Restrict (8) Rocket (C) Robber 41 Radom
Find the missing number 240...2 ...120 ...40...10..2 % 44T WTd fAY — )
(A) 120 ' - () 240 c100 (D) 10

Ram is not as tall as Shyam as Mohan is, Dhirendra is not as tall as Madhukar as Ranjeet is, Madhukar is
taller than Mohan. Who is the tallest among them all.

T s qum—— M R I TR B
forar fo i 2, W,rﬂﬁﬁw%sﬂﬂﬁaﬁﬂmamé?
(A) Shyam ¥ (8) Ranjeet¥olid  {€/'Madhukar (X . (D) Mohan A&

U &1 fadm s @ - _ _
() wraaT . @em - @agTE (3) Siw ¥ BIg Tl
Bl ¥ 99 A Hear o ud 8-
(@) GfEr @y et (w) st (@) gt
Prafafaa ¥ ¥ #9 T &1 @i T 76 2 -
aysea - (@) TS (W) e () arg
Pr=tifea § @ SfdT W @il
(a) =R @) & (@) EEa ] e
Rrad) TEwE | A o 9 @& fov e T @ ?
(@) aa (@) JerrE (|) armH (®) I -
P A A B 9 TR Ao R § - & | | ,
(a1) ueht @) <avi ) (@) @@= @ st W

qoud WG f5 AR W ¥ 91 AT ¢ -
{3y 3k () warT (@) =T (%) weufea
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8. mmﬁWWWﬁmiﬁ—
1. WS JWER T3y 2. ¥ onft wWow ot &1 3. far 7 @ el
) 1 3 w1, 2 e, 3 4R FIa
B 1 meE, aafimoem, 3 aRe o
®) 1 9Rw o, 2 e B, 3 qEEE
) 1 9RwEm, 2 e, 3 qeuTTId
79. ﬁﬁma#ﬁmm#mmfmgmé— _
(o) e (1) amag () few (¥ wag
80. 9% WA fore Syt @ ww F W fviwor g @ —
(&) gy ey agfe (®) FHarg () fa
81.  Rajusaidtothe boy "Where is your school" (Change Narration)-
_ (A) Raju asked the boy where his school is?
JBYRaju asked the boy where was his school is?
R{Raju asked the boy where his school was?
(D) Raju asked the boy is his school where?
- | 82, 'Superlative degree of Fatis -
' AXT Fatty. (B) Fater (C) Fattest (D) Fatest
83.  Thisisthe book ___Iwanted for so long.
AXK] what (B) whom (C) that (D) whigh
: |84.  Incorrect form of the verb fall is -
(A) Fell (B) Falling e Fallen (D) Fallow
85. (;;lgﬁsé the mismatch word -
(A) Cock-Hen (B) Fox-Vixen (C) Boar-Saw Aﬁf Monk-Nun'
86. Hegaveme.....cinn one rupee note -
(A) The AB)A {C) An (D) Thee
87.  Everybody, respect his teacher. N
(A) can (B) wil ] should (D) could
88. Ram will sing a song (Change voice)- , .
‘F JAY A song will be sung by Ram. (B) A song shall sing by Ram.
‘ (C) Asong will sing by Ram. (D) A song Is singing by ram.
89.  Write proper conjuction in the blank. "Ramesh i.f; clever................ Iproud" -
JXThat (B) As (C) But ' (D) Although
90. Odd one out -
(A) Blank (8) Empty Wlaln (D) Hollow
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91.

92.

93.

95.

96.

97.

98.

| '—/

A campalgn called "Prahar" has been started by the government of chhattisgarh. Which Is the objective of

this campaingn

Bive @ WOR B g CWER” e TP

IRV T —
(31) To remove unemployment from the state g A WA g T
 foqur. B e S

(d) Toencourage BSF
@Y To eliminate naxalism TqqedE B g I
T A B T

(Z) None of these

qﬁﬂﬁmﬁmwammm

When was the formation of the Durg District 7 E"f forel @1 AT P FIH AT

(a1) 1952 (@) 1958 () 1960 JZ) 1906

Who is the author of Chhattisgarh state song “Arpa Pairl Ke Dhar”

welrrTe @1 e g s 1 B 9D
(d) Hari Thakur &R STEX

(31) sundarlal Sharma W i
(ﬂ) Dr. Narendra Dev Verma . T 24 quf k)' Eochan Prashad Pandey Fﬁ'iFl YHIg qIvey

ry also known as *folk bele" is -

Rt aY® 4 N TE W E T e -
(g) Bilma faerT (@) Recla Vel (& Goura T

C.G. Folk dance form based on brave
s @ dRar | dlF T
(ar) Pandwani gear

In which body part C.G. woman wear Chutki Ornament -

BﬁﬁWﬂ?ﬁm‘{ﬂWﬁdeIﬁﬂﬁmﬂTﬁ - ‘
() Neck TaT @) Fingerst»’lﬂﬂﬁt-ﬁﬁﬁ (|) Toes R A ST (Q) Ears B

in the name of which sage is the manghpurnima fair heldat the origin of mahanadi.

qgﬂﬁa%quwwﬁﬁmmqﬁhﬁmﬁmmmﬁa%mﬁ%—
3] sage Muchukund TIEE i (d) sage lomash v =N :
' (W) sage Agastya I = () Sage Shringi sift =

Chhattisgarh was formed from how many districts of Madhya Pradesh
ey @ frad Ryel ¥ BT &1 frafor g3 —
(&) 14 15 . (@) 16 @ 17

Which is the first film of C.G. state purely based on folk language Chhattisgarhi ?
St AT W &0 gdTe T 9 qeeh fre off -

() Bhakia HIHal (@) Maya W4T

w Kahi debe Sandesh el 39 WW (g) Mor Chhaiyaha Bhuiya
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99. Where is Gandheshwar temple located 81¥aR %RR @&l 2 —
(3) Raipur IR (4) Dantewada COEIS
&Y sirpur Rqz () Mahasamund ~ WETHHT

100. When did landlord of Sonakhan Veer Narayan Singh hang ?
W & SHiieR R Arerr Rig @ o9 O @ T —
L#) 10 December 1857 10 fwav 1857 (@) 10 December 1858
(W) 18January1857 18 WGl 1857 () 18 February 1858

10 feaex 1858

18 Al 1858
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